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4. Plesse correctly 8 your Roll Number
i O R. Sheet Candidale will
themeslf be responsible for filling
wrong Roll Mo,

2. by e start of the examination before
attermpling the question paper kindly
check vour test booklst and OMR
Answeer Sheet and ensure that :

*  The seral numbers of test bookiet
and OMR answer sheel are same.

* Al pages of test booklet and OMR
answer sheel are properly printed.
Al guestions from S.No. 1 o last
S.Mo. 180 are printed and pages
from S.bo. 1 fo last S. No. 32 are
there in the question bookiet.

in case of any discrepancy / defect the

candidate should immediately repori the

matier to the invigilator for replacement
of test bookiet and OMR answer shest.

No clairm / objection in this regard will

be entertained after five minutes of start

of examination. Candidate will be liable
for it

3. Answer all questions.

4, All questions carry equal marks.

&. Only one answer is to be given for
each guestion.

8. if more than one answers are

marked, it would be treated as wrong
answer.

7. Each guestion has four alternative
responses marked serially as {A},
{8}, {€}, {B}. You have io darken
only one circle or bubble indicating
the correct answer on the Answer
Sheet using BLUE BALL POINT
PEN.

8. Use of Mobile Phone/Biuetooth
Devices or any other electronic
gadget in the examination hall is
sirictly prohibited. If any such
pronibited material found with any
candidate, strict action will be taken
against him/her as per rule.

8. If there is any sort of ambiguily/
mistake either of printing or factual
nature in Hindi and English Version
of the question, the English Version
will be treated as standard.

Warning : If a candidate is found

copying or if any unauthorized material

is found in histher possession, FLR.
would be lodged against himiher in the

Police Station and he/she would liable

to be prosscuted under Section 3 of the

State Prevention of Unfalr means Ast,

1942 and Board Regulations. Board may

also debar him/her permanently from all

future examination of the Board.

61.(1922)]

Do not open this fest

iR

booklet until you are Er 2
asked to do so. T
&S f;%
EIAE i
et

G

QUESTION BOOKLET

2

gfirert # el %1 %41 / Number of Questions in Booklet : 150
gftet § g3t At §%aT / Number of Pages in Booklet : 32

wra / Time : 3.00 ==/ Hours 2:30 70 5:30 AFTERNOON

quifes / Maximum Marks : 150

K\%MANM”/
FET SO S T ST OH SR, W T e (e we o § Te Ue TE T
o wieel v SRl
TH-T B S W UE o0 IR B B TeA-O T v U eR. S
=1 el iRy Sty o 9 gl e
Te-95 YfEaeRt T SILUR.STR. STRUSER % shUlh U THM ¥
oo kT UE SO, Saes & o use wel o g ¥ ue-ry F v
4 9 s el 1560 wF ol 7o wEeR g ¥ ud el o wweR 1 9 32
e B

el off yepm =Y Rl 89 = el €9 T wRa-T gRoe T LTSI, SRR W
TERT AR SRR § AT o | e aRe € % 5 e o e O Refa | foeel
we / snafy wowE few B e sed wnw SRl el &Y defn

8.
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1 What is the dimension of resistance 7

gfergry o oo wr R %7

(A MU IPT3 472 (B) MELPT3 472
© M L?T247 D) MU L2T3472

2 Which of the following is not a part of electrical cable ?
{A) Wax (B) Conductor
(C) Insulation (D) Bedding

Prer & ¥ SET SRS bev S TS A N A T 7

(A) =W (B) =W
(©) Twy D) AW

3 Which one of the following electrical cable is a type of iﬁﬁﬁi&tﬁd cable?
(A) Aluminium cable o
(C) Flat cable
Prer ¥ @ Sqate oW BA-A T 7
(A) Tl duw
(C) wE »Id

(B) Copper cable
(D) PVC coated cable

(B) T Haw
(D) el arremifT e

4  The rating of transformer may be expressed in

(A) kW (B) kVAR

(C) kVA (D) Horse Power
ThEET & T # @R @ W § |

(A) freare (B) & g

(C) (D) & T

5 On which principle transformer works ?
(A) Self Inductance (B) Mutual Inductance
(C) Self Capacitance (D) Mutual Capacitance
ghawrt fea frer W e s ¥ 7

(A) @& W (B) erdrg Iyw
(C) @ wiftar (D) =T aifa
61_(1922)] == 2
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&  The copper loss of a transformer is given by -
( = Current, & = Resistance)
T H @ e W A B © -
(I = @, R = whs)

(A) oy 2 p2

A st In3 FEN i 8

; iyf’% Al
€y I°r (D) IR?

7 Output of a digital Multimeter 18 .
(A) mechanical (B) optical
(C) electrical (D) analog
fefvew 9ot @ aRTgE L EETE
(A) uifBes (B) arfiteesa

(€) Toeri (D) wAw
8 - Sensitivity of a voltmeter is expressed in -
% Al B gl fhae vehfa @ s ¥ 7
Ay Q/V By Q/4
€ via D) ri4

9  The Channel Add in digital storage oscilloscope depends on -
(A) Memory (B) Reference cursor
(C) Vertical amplifier (D) Input attenuator
e e o ¥ v o g w Bt s & 7

(A) |l (B) Twig oR
(C) weatuy yatls (D) §ge qRmEeT

16 Half wave rectifier has maximum efficiency of :
aref T Rt @ eifteeem wwar o ¥ -
(A) 40.6% (B) 81.2%

(C) 78.5% D) 50%
11 Bridge rectifier is an alternative for -
(A) Full wave rectifier (B) Peak rectifier

(C) Half wave rectifier (D) None of these
i el sow w Rew ¥ -
(A) oot gim feserly (B) Brex sl

(C©) e g Rl (D) T ¥ &wE 7
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How many diodes are used in a bridge rectifier ?
T e e o oY s we Y e ¥ 7
(A) 2 (B)
© 4 D)

ﬁ‘!‘\ et

‘The output of IC7805 regulator is -

(A) -5 Volt {B)y +3 Volt
(C)y =7 Volt (DY +5 Volt
IC7805 TqweT &1 aNSeye g ¥ -

(A) -5 am= (B) +3 aw
(C) -7 49w (D) +5 =

What is the drop out voltage in a three terminal IC Regulator ?

A 2w o P Y s e s s B & 7

@& V| 2 7, | +2r ®) || < |7, |-2r
© [Vl =17 O 7] < |7]

To get a maximum output current, IC regulations are provided with -

(A) Radiation source (B} Heat sink

(C) Peak detector (D) None of these

s P g WE w0 % v, IC ffem % Y wEE fer W ¥
(A) Rfe a9 (B) @ Rim

(C) fret dqEs D) & § =g =

An Op-Amp clamper circuit is also referred as -

(A) DC cutter (B) DC inserter
(C) DC lifter (D) DC leveller
T uiETe vads ee oy s wEr S &
(A) & & (B) 3 & dwex
(C) & 4wy (D) & & wEEx

A circuit that removes positive or negative parts of a waveform is called
(A) Clamper (B) Clipper

(C) Diode clamp (D) Limiter

a5 Uiy W U a1 B e s weTeTe e e ¥ w weann B 7

(A) w™T (B) Reux
(C) =z v (D) ffrex
1922)] oo 4 [ PT.O.
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The time period of a monostable 555 multivibrator is given by -
2

e ¢ o, A
T AETRSH 555 qriEsel o uey ey ey ¥ -
(A) T=033RC (B) T=1.1R&C
(Cy T=3RC ) 7=RrC

Which pin is used to take output signal in an eight pin timer IC555 7

a1re R o TeEe 10555 % el e § e g o s ¥ 7
(A) 1 B) 3
©) 5 ) 7

SMPS is used for -

(A) obtaining conirolled ac power supply.

(B) obtaining controlled dc power supply.

(C) storage of dc power.

(D) switch from one source to another.

wgoa ey, (SMPS) sual fer wmr § -

(A) b st g e omgld we e % R
(B) Trofm Reurn g oy o9 & & oY

(C) Teeyry i & oo &[99

(D) T & ¥ X W T RE w7 & R

SMPS are based on the
(A) Phase control

(C) Chopper

T dLEg. (SMPS)

principle.
(B) Integral control
(Dy MOSFET
Ryt ot emenia ¥

(A) =R P (B) st s
(C) =i (D) e

An AND gate -

{A) Implements logic addition.

(B) Is equivalent to a series switching circuit.
(C) Is equivalent to a parallel switching circuit.
(D) None of these

w AND = -

(A) e WE T HET ¢ |

(B) ws gew Ratm aituy & gUat 8 &
(C) us guiay Rafr ooy & st g ¥ )
(D) = & &R T
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23 Which of the fol %@Wﬁﬁg is not a type of coupled amplifier 7
(A) R-C coupled amplifier (B) Transformer coupled amplifier
(C) @szi coupled amplifier (D) L-R coupled amplifier
e ¥ § - oow wode W yer e § 7
(A) R-C wuee qaee® (B) uftonfs sure yous
(C) =UER ouFE Jads (D) L-R sue waels

24  Which of the following is not a property of an ideal operational amplifier?
(A) Zero input impedance (B) Infinite bandwidth
(C) Infinite open loop gain (D) Zero drift voltage
Prefofga & @ @F-w wp oyl Wiraews yadE @ T TRl E 7
(A) s By vl (B) orFg ¥ R
(C) g gar e @ (D) @ T A

25  What is the unit of slew rate ?
(A} psecond/volt (B) wvolt/usecond
(Cy It is a ratio, no units (D) ohm/second
g &1 (slew) @ g8 T § 7
(A) unEFs/ERE (B) dre/uads
(C) ¥5 ©F oum &, B 398 W (D) oS

26  Full form of IGBT is -
(A) Integrated gate bipolar transistor
(B) Insulated gate bipolar transistor
(C) Integrated gate biseparator transistor
(D) Insulated gate biseparator transistor
IGBT &1 g 7™ & -
(A) zUeE T IRUE ZiRE
(B) TEES 2 SEUeT T
(C) T=nRrRe T TEIUE] TRl
(D) TS T FIEUUE 2T

27  Which of the following terminals does not belong to the MOSFET ?
(A) Drain (B) Gate
(C) Base (D) Source
frefafen & § @9- eRiew MOSFET (gfahe) & defm =i & 7
(A) sHaE (&) B) =
(C) amar (D) @@

61_(1922)] w=f= 6
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{Choose the correct statement -
(A) MOSFET is an uncontrolled device.
i

(BY MOSFET is a voltage controlled device.

(C) MOSFET is a current controlled device.
(D) MOSFET is a tem
T HUA ?}ﬁ" -

(A) Atz e st ghem ¥

(B) wighe 5 gee FulE gha § 1
(C) wrewe ww o Feile g §

v . g LI, N
(D) Ale%e & TowE FabE g §

erature controlled device.

Modulation is done in
(A) Transmitier

(B) Radio Receiver
(C) Between Transmitter and Radio receiver
(D) None of these

EIEREIE] & fpar wRT ¥
(A) zEdRx

(B) s Ty

(C) zhemry ok Usar e & 99
(D) T ¥ B T

Which of the following is not a type of amplitude modu

e ¥ ¥ B o AeweE @ Ye Te E 7
(A) VSB (B) SSB
(C) PSK

The amount of frequency deviation in FM depends on -

{A) Amplitude of the modulating signal
(B) Carrier frequency

{C) Transmitter amplifier

(D) Modulation frequency

M agf foome e Wk s & 7
(A) wismleT e & o™ g

(B) Wi emgha W

(C) giewey yads o1

(D) wfeges™ gk W

(D) DSBSC

preny
P
L
-
e 4
o



32 A distorted signal of frequency £, is obtained from a sampled signal if the sampling

2
pssg

38 The basic requirements of transmitting antennas

%@aﬁ@ﬁ;?’ ’{5 is - 3 N - o . o - ~ {(A) High efficiency (B} Low s{ws iobes
?g%{ T S S, ¥ T s R § W Sgi f, B pd R R s 1 e (C) Large signal to noise ratio (D) All of these
R T G W A e § -
(A) fo>2fn B) i <2fn (A) =g o (B) F=r ued o
© £ =2/ O 1 22/, | (C) = SNR (R ol 9 &7 o) (D) % @l
3 A multiplexer 18 known as - 39 What is the frequency range of audio frequencies ?
(A) Counter (B) Decoder g gl @1 sk wE wm oy 7
(C) Data selector (D) None of these | (A) 0 Hz — 100 kHz (By 20 Hz - 20 kHz
T SRR F w9 Y S o - | (C) 500 Hz — 100 kHz (D) 350 Hz — 350 kHz
(A) @ (B) Ty é
(C) srer Rywaey (D) T ¥ &E FE 40 By which name is an ionospheric propagation, also known as 7
{A) Sea wave pmwgémm (B} Sky wave propagation
34 How many selection lines would be required for an 8 line to [ line multiplexer ? (C) Ground wave propagation (D) Space wave propagation
8 wEw g 1 W TR % WY e gata @Al %0 Sasadar B ? SIS TR 1 B o 7T @ o s s § 7
(A) 2 (B) 4 ' (A) & 99 weE (B) ®E o9 WUIIH
(C) 8 D) 3 (C) o= I9 WUNeE (D) «F I D
35 The semiconductor devices that radiate light or utilize light are known as - 41 What is the width of data bus in 8051 7
(A) Active devices (B) Electric devices 8051 &t 327 §@ W O fead Ty ¥ 7
(C) Optoelectronic devices (D) Passive devices ] (A} 16 bit (B) 8 bit
TE FUTS SR W YHI9T @ Swafva Ul SYNET B § o Beery § 7 (C) 24 bit (D) 32 bit
(A) wfepa Rersd (B) sz fsamsd
(C) oeaeirs asy (D) Ty oy L 42 What is the file extension that is loaded in a microcontroller for executing any
- instruction 7
36 What is the principle of fiber optic communication ? g e TE BIEE UEUSYH o d PRy o il e & R e gemidee o e R e
{A) Amplitude modulation (B) Total internal reflection .. ES
(C) Refraction (D) Diffraction - (A) .doc (B) .
w yersia avg dor e Roers o smaf@ ¥ 7 — (€) .xt (D) .hex
(A) ST AT B) oof amﬁas ERERT |
(C) srmer= (D) fee iy 7 | 43 How many pins are there in 8051 microcontroller
5 8051 wEmmIwT § e R B ¥ 7
37  Which of the following transmission media has the highest transmission speed in a (A) 32 (B) 16
network ? ; ) ] {Q} 8 {g}} 40
(A) Twisted pair cable (B) Electrical cable
g}; ;?;ﬁ{ ?ﬁ%ﬁ S ¥ %rzaéi; gﬁiﬁi@;%sm s g%é’r - 44 gi;?zegésé;fr baﬁi@i 8051 a@ fg\%@@ieé by -
51 @1 et ¥ fres oo fodwe Reor s ¥ 7
(A) femes g & (B) forger e (A) ACC (B) TMOD
(C) wedr e (D) it HEaT (C) PSW (D) THO
L(1922)] 4 8 [PT.O. 61_(1922)] = 9 [PT.O.




45 The solar cell converts :
{A) Chemical energy into electrical energy.
(B) Solar radiation into electrical energy.
(C) Solar radiation into thermal energy.
(D) Thermal energy into electrical energy.
T W gkl s ¥ -
(A) vErahw S ¥ REg e 8
(B) dr fafswo & fogg oot &
(C) dx ffFer € orfg et &

T g

(D) dm St ¥ g ot

46 Solar cell is also known as -
(A) Photo valve cell (B) Photo volt cell
(C} Photovoltaic cell (D) Voltaic cell

T OF B o fpT WY W W W § 7

(A) w= Trg (B) W O 9
(C) wrRERes ¥ (D) afws @
47 The symbol of LED is -
LED &1 wdis fogg & -
s 4
(A) | ® —

)

48 LED emit light only when it is -
{A) Reverse biased
(C) Both (A) and (B)

(B) Forward biased
(D) Nong of these

a3 Saw ol vy salva @ 9w 9 R
(A) 959 s (B) o srafsg
©) (A= (B) == D) T ¥ oE T8

49  The colour of light emitted by a LED depends on -
(A) lts forward bias (B) Iis reverse bias
(C) The amount of forward current (D) The type of semiconductor material used
T TR.EE. BT SR Y B T 39 9% PIET o § -
(A) 3T9% o ST WX (B) 6% 99T §UET W
(C) omrem & W9 9 (D) orelawe @l & 9B 9T

61_(1922)] = 10 [PT.O.

50

52

53

54

What are the primary colours of a colour T.V. 7

{A) Red Green Blue (B) Blue Black Yellow
{C) Red Cyan White (D) Yellow Green Red

¥
wsd

o & & & vt T B9 v
A) @ BQ AT
C) W WE T

g

In 7 segment display, how many LEDs are used 7

o

7 we foew ¥ o wwiE @ waw R e ¥ 7
(A) 8 B) 7
(C) 10 (D) 9

Which of the following lamp is used to emit light in LCD T.V.7
(A) LED {(B) Neon lamp

(C) Sodium lamp (D) Fluorescent lamp

LCD 2@ % 7 % § oW ©Y TN 90 &3 & WY YgE B § 7

(A) w3 (B) ot du
(C) wifsaw wu (D) w0E= @

What is the full form of GSM ?

(A) Global Special Mobile

(B) Greater System Mobile

(C) Global System for Mobile Communication
(D) None of these

HogeE. & gw am ' ¥ 7

(A) EE WIE ANER

(B) X foww "AEme

(C) e ¥R ¥ o wEw e

(D) T ¥ &F 7

What type of cell shape is generally preferred in GSM 7
(A) Triangular (B) Hexagon
{C) Octagon (D} Pentagon

GSM ¥ fore wanrd & O gk T &9 H ) 9l 8 7

(A) BrgemEr (B) weHEETR
(C) srzysr (D) dEvETETT

61_(1922)] o= 11



55  Which one of the following is not an example of circuit simulation software ? S v :
P e I TP Sl BRSI ;@ s , o v ‘ 61 The only function of a NOT gate is to -
e V- FITe : EREC 5 HEl B 7 g . BY Siart a si
PITH S STJP WIeAHt @ Sal T (A) Stop a signal. (B) Start a signal.
Ay PCM } Verilog N . . .
(A) , (B) Verilog (C)y Invert an input signal. (D} Act as a universal gate.
(C) MATLAB (D) VHDL ' -

e NOT 72 & i &Y § -

e s L o . N (A) g% = €% BT | (B) ©%a w1 E HOH
36  Smallest change which can be detected by a sensor is called - - N N . N ~
futi \ (C) s = W qEEHT ] (D) & g gR @ 0
(A) Resolution (B) Accuracy (C) & e : S ‘
(C) Precision (D) Scale
N " 9PN > 4k 1 i e nimiteron! te 9
TEY W UEET W U Y9T U @ €% &, O oEY € - 62  Which of the following is universal gate *
: s P B 2 9
e Gl kX
(A) T (B) &=t , frer ¥ § oo geeties e ¥ ¢ ‘
{ 3 G T Yy OR Ry NOT
(C©) qear (D) tme (A) OR (B) NG
~ (C)y Ex-OR (D) NAND

57 Which of the following is not an analog sensor ?

(A) Potentiometer (B) Force-sensing registers 63 According to OR gate truth table, 4 + 4 is equivalent to -
(C) Accelerometers (D) None of these (A) A (B) 24
Frafafes & @ @91 @ e der i ¥ 7 (Cy 7 (D) None of these
(A) rRfEEET (B) - W OR 2 gear 9ol & PraarEr 4 + A g § -
(€) TR (D) ¥ § B & (A) A (B) 24

© 4 (D) T 9 BE T8

58 Which of the following is not a characteristic of ideal transducer ?
g

; ioh d . o ) e ‘ . i
(&) Qg _gh Ramie ;tagge (B) Low émjeamy 64 What will be the ouiput of Ex-OR gate for inputs 4 and B 7
(C) High repeatability (D) Low noise & v B3 R BOR 9z -
Frefalea & ¥ a9 omest gigsgEy & fudwar WS ¥ ? TE A TS B B e S
(A) = wieshe w09 (B) P g (A) AB+ 4B (B) 4B+ 4B
(C) v= AU (D) B 9 (C) AB+AB (D) 4B
5%  Which of the following represent active transducer ? 65 Which of the following is not a sequential circuit 7
{A) Strain Gauge (B) Thermistor (A) Flip-Flop (BY Counter
(C) LVDT (D) Thermocouple (C) Shift Register (D) Multiplexer
Frefefea & @ -1 s giesgay @ ahitie o ¥ 7 et F R orgEie aRug T ¥ 7
(A) Topit s (B) =i (A) Rera—wara (B) wEe
©) wadra (D) e | (C) R e (D) AT
Which of the following is not a di t semiconduct rai 7
60 [Whmh -oi the faéighm ingisnotad gadva;ﬁagg of Séwsc{};mﬁc@:@f strain gauge 66 A flip-flop can store -
(A} High gauge factor (B) Low linearity L. o At
1 {A) 1 bit of data (B) 2 bits of data
(C) High cost (D) Temperature affects more (©) 3 bits of dat DY 4 bits of data
Fror & @ w-dr At & AW B Bt T E 7 (©) 3 bits of data N ()5 bt ol da
oy Y . RG] k| ¥ 5 -
(A) o I ey (B) @& YRgwan ?ﬁ T %1% E: R ) ¥ 9
©) ofm % (D) 79 ¥ ahm (A) == @ z (By s & 2 f&e
(C) s=r o 3 T (D) T % 4 4
2 P’ i .
61 _(1922)] == 12 [ PT.O. 61_(1922)] = i3



67 The SR flip flops does not accept the following input entry - | § .
P 1o ) ving inp 7 72 How many flip flops are used in asynchronous decade counter 7

AY Both inputs zero (B) ZeroatRand 1 at S .,
;L}} Zero a{S and one at 8 ;ii Both inputs are 1 wiiE f%s wmoe ¥ B R vl e A f o w7
e, R et Prefvie R ofife @ @i T8 e b - (A) @3

(A) =FF PR v s (B) RUX 4= X S T w5 © 4 o 5

(C) STW = IR R W & (D) & Faw 9T

73 In the given figure, if all ‘ﬁpmg are
bit, &mrg what will be the mode
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68  Parallel adders are -

{A) Combinational logic circuits (B) Sequential logic circuits Input

{‘C} Both of the above (D) None of these $W$MT

{A} e TR (B) waes ok TR % FEZ FF1|FF9 — Output

(C) st &t (D) &7 & wig el (A) Parallel In Parallel Out (B) Serial In Serial Out
(C) Parallel In Serial Out (D) Serial E Par aﬁm Out

69 A combinational circuit is one in which the output depends on the -
{A) Input combination at that time.
(B) Input combination and the previous output.

& 3o o A, oft 9l 9992 @ iy 9 O 997 oTNYYE Ue-OF T B W 9y 9 U8
e e & 5 a6 & v & 9o § 7

(C) Input combination at that time and the previous input combination. T
(D) Present output and the previous output. 1 “1“‘““_3‘,
T daeE Uy 9% e ¢ faen e Rt wwr § -
) FFZ | FF1 | FFQ — seage
(A) 58 99 & TRy gEUeE W |
(B) e wimm ol few Frfw o | (A) GEIET 3 G9iET oIS (B) g g7 9ol amge
(C) U gy & May 99 o few fay dOem oX | (C) guie & 9o arge (D) 9% 5% gEET oSe

(D) = Frfw @ Rew e o
74 A shift register in which the output of the last flip-flop is connected to the input of

76 A decoder with four inputs can have a maximum of how many outputs ? i )
the first flip-flop is known as -

e Ewet mel 9% 99 § Suen efumoy Owe emeeye Readr wRl ?

(A) 16 (B) 4 {/};} Ring counter (B) Ripple counter
(C) 8 (D) 32 (C) Parallel counter (D) BCD counter
5 e et fves arell AT w0 @) ST9eqe 99Y U0 Y T & e § 980
71 In digital logic, a counter is a device which - “ ‘ Bl ¥ o w7

(A) Counts the number of outputs. : (A) For s (B) fuw weex
(B) Stores the number of times of a particular event. (C) T wrieT (D) BCD ®m
(C) Stores the number of times a clock pulse rises and falls. ]
(D) None of these . - . . . , ‘
' - ! , 75 Which type of bond is present in semiconductors 7
fsiiew @itve o, T ®ReT TF SIB § W - \ 7 *P . a1

NEEN EN 3 (A) lonic (B) Covalent
(A) i o § ) (©) Eiect&waimﬁ (D) Co-ordinate
(B) Tt faow =ewr @t dew = sulka e ¥

N . N sl o Bl T 7
(C) & e o8 & 9o o P & g9y &) der & oulkta s § | \ . .
) (C) soeRm= (D) o

61_(1922)] < 14 LPT.O. 61_(1922)] 15 [ PT.O.



76  With increase of temperature, the collector current of a transistor -

(A} decreases (B) increases

{C) does not change (D) becomes zero
AWHH GG UX LINTET @ TURS 9T B A -

(A) wear & (B) ¥ ¥

(C) emfEla o ¥ (D) = B W ¥

77  The transistor is said to be in quiescent state when -

A) It is unbiased

o

(B) No current flows through it

(C) No signal is applied to the input

{D) Emitter junction is not biased

afy ey ‘o (Quiescent) araw ¥ ¥ o) Tow o ¥ R -
(A) oFEmE ¥

(B) ®E oy yaE ol ¥

(C) 3R WX =iy Rrw 781 @ ¥

(D) wwe wfr gow T8 R

78 What is the relation between ¢ and B of a transistor ?

TH R S Y o T B R w gy g & 7

_ _ B

(A) B = . B) © -B
: ——._m%_m ::.....-E.....
(Q} g"" T+ (E) o {—

79 An Amplifier has a voltage gain of 100 V/V and a current gain of 1000 A/A. The

value of the power gain in decible is :

(A) 30 dB (B) 40 dB

(C) 50 dB (D) 60 dB

s gay® o 100 V/V & aees w19 8l 1000 A/A & o w9 § | ok @ & SRew
# A R —

(A) 30 39w (B) 40 so=w

(C) 50 sHew (D) 60 sHT

61_(1922)] 16
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80 NCVT was set up by the Government of India in
ARG E GG AR G A SO - B <1115 i 1 o

(A) 1936 (By 1957

A{C) 1959 (D) 1960

81  Full form of NCVT is -
{A) National Council on Vocational Training
(B) MNational Committee on Vocational Training
(C) National Committee for Vocational Training
(D) None of these
TR WY oA § -
(A) =oremiiie 9t ot TS 9iwe
(B) =neatis aiyte w o il
(C) =ngahm uiiew & e oy aifly
(D) T ¥ @R T8

82 Which hammer is made of wood ?
(A) Mallet (B) Ball Pzen hammer
(C) Straight Peen hammer (D) Cross Peen hammer

weHe! o ¥ BT BE-w 7

(A) Fwe (B) «@ 9 ¥
(C©) ®e 97 ¥ (D) »ig 9% T

83 Which of the following tool is used to measure inside diameter of a cylindrical
object 7
(A) Plain Scriber (B) Inside Caliper
(C) Foot Rule (D) Spanner Set
e § ¥ wea oo el RaeTeew eeeee 6 ST & ST @Y Wi ¥ i enel ¥ 7
(A) = h1ETT (B) reEs S

(C) Pz & (D) &=t de
84 1 PF is equivalent to -
| PF ge 8@ & —
(A) 103 F (B) 10%F
(C) 10°F (D) 10712 F
85 If current through a resistor is halved, wattage developed by it would be -
(A) halved (B) quadrupled
(C) cut to one fourth (D) doubled
fE T TRTUY % FR ST 67 onen Redr Rl ¥, O 599 B [efia &) il ar gwar el
(A) ol (B) = TR
(C) t©w iR T &9 (D) =
61_(1922)] mi= 17 [PT.O




86

88

89

90

61_(1922)] = 18

The units for Inductance and Capacitance are o
(A Faraday, Henry (B} Coulomb, Faraday
{(C) Henry, Faraday (D) Henry, Coulomb

PRG e \3:?% Ty F R "@"&ﬁ%ﬁﬁ% -

(A) TS, &0 (B) wwiw, B
(C) &0, Bas (D) =0, Fow

What is the colour code for 2 140+ 5% resistor ?

{A) Brown Black Red Gold (B} Black Orange Gold Gold
(C) Violet Red Gold Silver (D) Browf Blue Red Silver
1kQ+ 5% 9 & 9a0Y & SAC B & BN 7

(B) @ AN g0 R

(D) wT e @ G

(A) U & T gae ]
(C) il @ goew Al

Inductive reactance is equivalent to -

@ IET W ged W § -

(A) (B) 2mfR

2nfL
(C) 2n/L D) we

A soldering iron "bit" is made of -
(A) Brass (B) Tin

(C) Steel (D) Copper

e gesior eraE W e @W%‘W% |
(A) b (B) R&
) < (D) dfar

In soldering, which flux is generally used for silver ?

(A) Ammonium Chioride (B) Hydrochloric Acid
(C) Hydrochloride (D) Zinc Chloride
destor 9, @i % Y g S weg o e e v 7

(A) emifrm RS (B) wEErRIRE R
(C) TRgEaNEs (D) e w@Es

fiasnee |
.-
-
o

91 The shape of surface mount resistor is -

{(A) Oval (B) Circula

{C) Square (D) Rectangular

HY WIS WY 1 eI e T ¥ 7

(A) =Y (B) T@mT

(C) =uar (D) ERETY
92  The full form of SMD is -

(A) Surface Mount Device (B} Short Mount Device

(C) Surface Missing Device (D) Surface Mount Diode

SMD & U A & -

(A) TTHE ¥Ew SO (B) o wewe fumw

(C) wihg ey Rarg (D) TCHY A S
93 Heat for soldering process is supplied by -

(A) Soldering iron {B) Induction furnace

(C) Electric resistance method (D) Any of these

(A) desfor emae (B) <zavF waE

(C) fre wRre Ry D) = § B @
94 The purpose of using flux in soldering isto _________

(A) Increase fluidity of solder metal (B) Fill up gaps left in a bad joint

(C) Prevent oxides forming (D) None of these

qesiiy ¥ Tad B S99 S %Y 9eyd ¥ -

(A) desT uig & aea SgT (B) §( ¥I® ¥ W @ & T

(C) oferiss §99 € 99T (D) T% ¢ »E wEl
95  Which among the below mentioned packages does not belong to the category of

"small outline package" ?

(A) SO (By S0P

(C) 8OT (D) SON

R T e F B oy e S @ oo & R T ¥ 7

(A) T (B) wa.siglL

(C) Tg.enin. (D) wg.ehO.
61_(1922)] whw i9 [ PT.0.



86 What is the thickness of base material in flexible PCBs 7

o,

(Ay 0.1 mm

e

.

(Cy 10 mm

o,

A e & PCBs ¥ amury gy
(A) 0.1 P
(C) 10 fed

97 The components in a PCB are connected by -

(A) Copper track
(C) Aluminium wire

(B} Copper wire
(D) Iron wire

e PCB & oo e o @ s g s s € 7

(A) BT 3B

(C) wwghfrm ar

98 A relay is
{A) A mechanical switch
(C) An electromechanical swiich
T @ ¥
(A) s uife Re=

(C) ww fagaaite few

(B) ®lUx @Ix
(D) ®® & A

(B} An electronic switch
(D) None of these

(B) 1 wwie feg
(D) T & =g 7

99  Which of the following represents double pole single throw switch ?

P ddsru s R e e welesm ¥ 7

(A) o
© : ’

160 The frequency of an AC signal is 50 Hz. Find its time period.

af T o R @ engia 50 Hz ¥ o S oTeaemn &1 o1 9 BT 7

(A)y 0.02 sec
(C) 50 sec

61_(1922)] ==

(B) 0.2 sec
(D) 20 sec

20

[PTO.

(A) Kota

‘ (C) Dausa

(B) Sawai Madhopur

(D) Alwar

2

. FoC
T WY uvew e O 8 B

(A) ®E
(C) Tar

b O o - D
r W g e W Wy g ¢

B) garg #E

102 In which wild life sanctuary the endangered flying squirrels are found 7

(A) Van Vihar
(C) Desert National Park

(B3} Sitamata
(D) WNahargarh

HEA-Y T Tg oW ¥ deerg ggd Prashal fed € 7

(A) T =
(C) U™ 76 SuF

1063 Which pair is not correct ?
Lift project
(A) Kanwar Sen Lift Canal
(B) Gandheli - Sahawa
Lift Project
(C) Rajiv Gandhi Lift Canal
(D) Gajner Lift Canal Project
Far g T E
oo afEe
(A) FHIC 7 TR 7w
(B) o weEar fuwe WEy
(C) Tl 7ie) fwe 8%

(D) 7 e ¢ gRaiem

Néz:;lia;;giiﬁ{
TEE

B
b

o

N
N’

Supply drinking water fo
(1) Bikaner

R

(iiy Churu

(iii) Jaisalmer

(iv) Nagaur

YA IUEH &9
() Swex
(i) g&
(ill) FrEEER
(iv) =R

164 The district in Rajasthan having its boundary with the U.P. and M.P. states, is :

(A) Banswara
(C} Dholpur

(B} Bharatpur
(D) Sawai Madhopur

TORUTT T (T O T YRy 9 ULy Uy % 9y P TEdr ¥, 9% &

(A) wEgEr
(C) €rgR

61_(1922)] =
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(D) wars ey
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165

168

The river on which Meja Dam has been constructed is -

{A) Kothar (B) Banas
(C) Bedach (D) Mansi
g waw sfy = ¥, 98 ¥ -

(A) BRI (B) wTE
(C) s=1 (D) ==Er

In which district of Rajasthan Degana mines are located 7
(A Alwar (B) Banswara
{C) Kota (D) Nagaur

ST @ e % e R ¥ feg ¥ 7

(A) FEy (B) sfgamr
(C) @& (D) P

Chand Baori is located in which district of Rajasthan 7

(A} Alwar (B) Dausa
(C) Jaipur (D) Tonk

e Il T & By e ¥ e ¥ 7

(A) em@EX (B) =r&

(C) vyt D) %

Where is Bhim-Sagar Irrigation project located in Rajasthan ?
(A) Kota (B) Bundi

(C) Baran (D) Jhalawar

T H e R e wef Rag g 7

(A) ®e ®) &

(C) @ (D) wwEE

Name the important cattle breed of Jaisalmer district -
(A) Gir (B) Tharparkar
(C) Kankrej (D) Rathi
e N @1 ge 7asl @ T @ 99 i -

(A) P (B) gr{qiiax
(©) wwe (D) WX

' Desert Development Programme (DDP) was launched in :
(A) 1985-86 (B) 1977-78

(C) 1974-75 (D) 1966-67
& fyee wrwd (SN @ Rear o

(A) 1985-86 (B) 1977-78 ¥
(C) 1974-75 & (D) 1966-67 &

61_(1922)] = 22

113

114

The total length of Indira Gandhi main Canal is -
{A) 204 km (B) 445 km
(C) 826 km (D) 869 ki
Sy ol ger ey o wwE ¥ -

(A) 204 B (BY 445 v
{C)y 826 f&wr (D) 869 Revl

Rain Water harvesting is beneficial for -

(A) Agriculture

{B) Hydro electricity

(C) Improvement of underground water level
(D) TIrrigation

Tul 5@ TIET TG § -

(&) 3 & fog

(B) v faga % Ty

(C) ofrm ow X ¥ gur & g

(D) Rrerg & fg

'‘Aishwariya Oil Field' is located in the district of -
(A) Jaisalmer (B) Jodhpur
(C) Barmer (D) Jalore
Y oW & e e g ¥, w8 § -

(A) TEFR (B) wEyt

(C) wmsax (D) sWR

Match the following and select the correct answer using codes given below :
List - 1 List - 11

(1) Sandy Soil (i) Udaipur, Dungarpur

(2) Red Soil (iiy Bkaner, Jodhpur, Barmer

(3) Black Soil (itii) Tonk, Alwar, Dholpur

(4) Alluvial Soil (iv) Kota, Baran, Jhalawar

e ot gAlva iy @ TR R T g o weRa o 9 39T gie -
T - 1 @ - 10

() wEEg,

(2) w gar (i) IRFR, SEYR, SRR
(3) =@ g (i) ¥, @AY, GEYL
(4) @Bl TE (iv) @, T, s
Code / %2 ¢

oG 06 4
A G @ (iv) (i)
By ® G @) ()
© vy ) 3G @
O Gy ) @ (i)

61_(1922)] =4 23 [ P.T.O.



115 In which direction the rainfall decreases in Rajasthan 7
{A) North to South
(B) West to East
(C) MNorth-West to South-East
(D) South-South-West to North-East
e ¥ few R ¥ avl ww e el ¥ 7
(A) wa @ wigor
(B) dfyew &
(C) wEr—afyem ¥ hgo-gd
(D) wfr-afeor—aftem ¥ s

116 Choose the rivers flowing towards Arabian Sea -
(A) Sabarmati, Som, Mahi, Luni
(B) Chambal, Kothari, Banas, Beruch
(C) Kakni, Sabi, Ghaggar, Masurdi
(D) Chambal, Som, Ghaggar, Luni
Y WY &I ST TERT B 9wy ARYl @ g eiie -
(A) w=TE, 9, ", G0
(B) T=w, I, TW, ¥4
(C) w1, WR, FE, A
(D) u=@, 99, TEY, T

117 Match List - I with List - II and select answer using code given below :

List - 1 List - 11
Aravalli Peaks Height in Metres
(1) Achalgarh (iy 920
(2) Taragarh (iy 792
(3) Kho (1ii) 1380
(4) Bhairach (iv) 873

T - Do gl ~ 118 gafea o o oox @ oo 99 /R W g2 @ ol
- I T - 10

aomen % fra S ARy o
(1) o=eTe (i) 920
(2) arre (i) 792
(3) @ (i) 1380
(4 fum (iv) 873
Code / 32 -

o @ 6 W
(A) (i) (D) ) (i)
(B) (i) Gv) @) ()
€ (v @y @O ()
O) vy G G ®

61_(1922)] = 24 [PT.O.
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Who was the Architect of Ranakpur Jain Temple ?
(A) Deepa (B) Mandan
(C) laita (D) Vastupala
T O AR B IEgeR e a1 7
(A) B (B) =wed

X i,
(C) (D) =g

by
A
<
Lp]
iy
@]
w3
e
[
«Q
o
et
i
o
i
e
o
jae
e
pag
g
s
g
g
o
e
~

Who was the Architect of Vijay Stambl
(A) Mandan (B) Jeewsa
(C) Jaita (D}
e g % e W o IRgei B ot 7

{A) 7v&d (B) <imar
(C) Far (D) &

Who among the following inaugurated the third phase (United Rajasthan) of the
integration of Rajasthan 7

(A) Jawaharlal Nehru (B) N. B. Gadgil

(Cy V. P Menon () P. Satyanarayan Rao

Torg™ T % gan o (@9 TeeH) @ seEed e 4 ¥ fews gro w7
(A) ErEtE™ 5w (B) w. & T=fw

(C) & 9 9= (D) & wOETE "

Under whose leadership did the women participate in the Shekhawati Peasant
Movement 7

{A) Kishori Devi (B) Uttama Devi

(C) Rama Devi (D) Durga Devi

Reges wg@ ¥ SrEmErer feam ofgwe o witemel ¥ ww fwr ?

(A) TBemd = (B) wowr <
(©) & (D) gt &

To which area of Rajasthan did the noted women social reformer Chhagan Ben
belong 7

(A) Jodhpur (B) Jaipur

(C) Udaipur (D) Bikaner

fremma Afeen a9 guTE BET ISOE @ B 83§ okt o 7

(A) wugR (B) w@gR
(C) weagx (D) @Y

s
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il is found in Hadoti Plateay 7

2]
Q.

N e . i e St o 128 Which type of ¢
123 Which of the following was made the capital of Matsya Union 7 o ybe

e (A) Laterite (B) Black
(A) Alwar (B) Bharatpur Vs (B) Bia
, (C) Sands (D) Alluvial
(C) Dhoulpur (D) Karouli (€) Sandy (D) Altuvial
. : .\ REIRT ¥ BT WHT S Te UR Wy ¥ ?

I w9 B Twary e § ¥ Y e w7 FOTC T WA A W W

: , (A) ®eUEe (B) =y
(l‘%} CREEY {E} %“W R ? e f
e 5 (C) w= (D) wEe
(C) 9" (D) == ‘

129 What is the name of the winds coming East in Rajasthan 7

124 Where was 'Rajasthan Sewa Sangh' founded in 1919 7

o fo
o A ; y Purvai (By Loo
(A) Bijolia (B) Wardha (A) Purvai | 3? Loo
(C) Ajmer (D) Jaiput (C) Westerlies (D) Western Disturbance
1919 # TR S 9 B e 2 5 g faen ¥ vonae ¥ ge 9l gdT @ o & Wi § 7
(A) e (B) auf (A) R (B)
3

’ 134 Taragarh mountain pesk is part of which of the following Aravalll Regions 7
125 Who led Begun Peasant Movement ? & P P o s v

I s -
(A) Jamnalal Bajaj (B) Nayanuram {A) Nﬁ.ﬁﬁem (B) Ei@;ﬁthem
(C) Ramnarayan Choudhary (D) Arjunial Sethi (© Mﬁfdi‘“\ . o (D) Eastern
¥ Fram ol @ g ey Rear e 7 AT TEg 9 oTae! & elengg weet ¥ § fmer wm g 7
(A) TTEEEIE SIS (B) (A) sl (B) =fgoly
N C) =g )
(C) e Bl (D) e T8 (©) =8 (D) &

126 Who led Revolt of 1857 in Kota 2 131 G@éwar region is a part of which broad physiographic division of Rajasthan ?

A Zast Plai
(A) Rao Ramchand (B) Jaidayal and Mehrab Khan (? i’@s‘{ /g j‘ii Region 2} ;&% Pzag Region
(C) Heeralal and Heerachandra (D) Rawat Jodhsingh (C) Aravalli Region R i aaﬁ@aii egion
et ¥ 1857 ¥ fudie @ Sgewat @ ar 7 MEET Ta9T Tord™ & 59 geq -ongios v o Ren ¥ 7
E i . 5 A _“rz:gr ~§ 8 ‘

(A) TE IS (B) wueuw, NeUS @ i:) wivE Q{z T {B) ECl a;ﬁ Ll

o n R ) @g‘{‘g‘fﬁ?{- ; o7 I TETT -
(C) Erwmw, sRE= (D) Eg WuRiiE © “ (D) { GaaT

127 Vijaysingh Pathik is related to which movement ? 132 Which of the following pair is not correctly matched ?

A) Chambal — Parbati B i~ Sukri

(A) Jat Movement (B) Peasant Movement ;C; . amba Kﬁgbi j; ;ﬁ: isw
Banas - Kunt ahi - Sor

(C) Tribal Movement (D) Meo Movement . f unta B (D) Mahi om

fosraftis wfe Reg aide & wetem & 7 e & & @ g gifea 7 &

(A) W e (B) frar endre (A) @@ - e B) T - T
| oY ) {: K - i D Fﬁﬁ - "{:ﬁ“‘"{
(C) wwemh arfEe (D) %3 aierA (C) =™ Her (D) T

61.(1922)] = 27 [P
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133 ‘Which is known as 'usar’ soils ?

134

{A} Salty and alkaline soils

(B) Soils on the bank of sea

(C) Sotl located on the bank of rivers
(D) Soils located in mountainous regions
HEY a5 wEY ¥ 7

(A) @l g sl ger @y

(B) wv & fmmy @l wer

(C) Rl & P oT Reg Ta

(D) wdagd gael o Rew g

Match the following and select the correct answer using codes given below :
List - I List - I

{1y Chinkara (i) Jaati

(2) Godawan (ii) National Bird

3) Khejri (iii) State Bird

{4) Peacock (iv) State Animal

et el Bifvg w PR RY 18 odf o wemar @ W o @ Ta o -
T - 1 ot - 11

(1) R (i)

(2) TR (i) w e
(3) dE (iil) o e
(4) = (iv) g Ty
Code / gz :

o @ & @
Ay (v) G @O 3
(B) @) G 3 (v
© Gv) () G @
(D) ) G Gv) )

In which agro-climatic region the Agriculture Research Institute, Mandore is located ?
(A) Transitional plain inland drainage

(B) Arid western plain

(C) Imrigated north-western plain

(D) Transitional plain of Luni Basin

B SHEF B, WER By HR-wway Wy ¥ Rug ¥ 7

(A) o/ WY TR B O

(B) g ulymdr 5@

(C) Tfem sox-—afted Jare

(D) wFr SR @7 orwet TR

61_(1922)] == 28 [ PTO.

located 7

136 Where is the world famous "Brahma Temple”
{A) Kolayat (B) Pushkar
(Cy MNathdwara (D) Alwar
Ty whrg s R wef Rua b 7
(A) wEaa (B) g=
(Cy ~muErT (D) emEy
137 Where is the Vijay Mandir Fort situated 7
(A) Karauli (B) Deeg
(C) Bayana (I3} Shahbad
Ferer AR fopem wel Ra@ § 7
(A) == By &m
(C) sum (D) s
138 The famous Ganesh Mela (Fair) of Ranthambore is organised on .
(A) Shravan Shukla Chaturdashi (B) Bhadrapad Shukla Chaturthi
(C) Kartik Shukla Chaturthi (D) Ashwin Shukla Chaturdashi
T W WS T AET . o e T
(A) gmevr g Tgeal (B) wEwe g =gl
(C) =i g Tgdl (D) oy gow aqeh
139 The famous Rajasthani dancer "Gulabo" is associated with which dance form ?
(A) Gair dance (B) Kalbeliya dance
(C) Valer dance (D) Ghoomar dance
TReE TR W o ey 9ey fhe Iw W ¥ 7
(A) g (B) wmifmn T
(©) W T (D) =<
140 Which of the following form of folk music, dance and drama belongs to eastern
Rajasthan ?
(A) Rammat (B) Nautanki
(Cy Turrakalangi () Gavari
W S, T O e @) ae-a R @ v ¥ geim o7
(A) =T (B) e
(C) gRiww (D) W=l
61_(1922)] =d= 29 [PT.O



3 3 & H : L - - . . The MMeahraroarh f—;r t 5% buyrile duuy
141 Which of the following area is known for Dhundhari dialect 7 146 The Mehrangarh fort was built by ool

{A) Shekhawati (B) Hadoti (A) Rao Maldev {(B) Rao Chandsen

(C) Jaipur-Tonk (D) Marwar (Cy Rao Jodha (D)} Rao Seeha

frer ¥ & B 8% dorst I % R W s & WETETE G e P o Rear o ¢

(A) srErErr (B) =R (A) TT TFRY (B) T T|a
Y

(C) wagE—3® (D) " (C) " Sy (D) T g9

Who was appointed as the administrator of Jodhpur in 1574 A.D. under its occupation
by the Army of Akbar ?

[y
o
~J

142 The Uniara style of painting is considered as a sub-style of which school of paintings ?

{A) Kishangarh B) Dhundhar :

\ ®) ’ (A} Yusuf Khan (B) Badayuni
(C) Marwar (D) Mewar ©) Kal | of Bik DY Rai Singh of Bil

: Calyanmal of Bikaner (D} Rai Singh of Bikaner
R ot sftmarcr 9 @ frw Rl o wu-deh & e ¥ A oT ¥ 7 ) ) . o )
(A) R 1574 5. ¥ Srpwt B Y91 & MUK & W WYY B Gy Ty Fgew fer T v
(A) feyrrs (B) o= § o

, ) ® (A) gg% @l (B) wE
(C) wEns (D) ware ) . . N

(C) d&mT & e (D) ST % e

143 The main subject of Pichwai paintings is - _ ] .
- &1 pamntings s 148 The Chauhans of Ajmer are also known as the Chauhans of .

(A) Waij ‘ (B) Royal Court (Rajdarbar) (A) Jalore (B) Ranthambhor
(C) Shri Krishna Leela (D) Love Context ; (C) Sapadalaksha (D) Nadole
frges fmidielt &1 oo fawr ¥ 2 ST F EER W % e b AW q ) W e ¥
A 7= (B) XmERET (A) wER (B) TOI=iR
(Cy ot wr e (D) worg wE (C) wumws (D) =
144 Who was the founder of Vishnoi sect ? 149 "Evidence of Ploughed field" is related to which civilization 7
(A) Dhanna (B) Charandas (A) Ahar (B) Bagor
(C) Dadu (D) Jambho (C) Kalibanga (D) Balathal
freis wrery @7 e B ar 7 IO ¥T O & e few wew @ wefuw €7
(A) == (B) =omE (A) ores (B) riK
(€) =) (D) s (C) wwhem (D) SrTYw
143 On which hill is the Mehrangarh fort of Jodhpur situated ? | 156 Which inscription mentions Chauhans as Vatsagotra Brahmins 7
(A) Giri Sumer (B) Bari Tekari (A) Bijolian Inscription (B) Neminath Inscription
(C) Beetli Toonk (D) Chidia Toonk (C) Chirwa Inscription (D) Ranakpur Inscription
fpe weTEr W U & Aeowe g Rew ¥ 7 | forw Rre # el @ Sy g S8 AT E 7
(A) Pt g (B) =& BA (A) Feifrmat e (B) Fimme Rewre
(C) el & (D) R ¢ (©) e R (D) T RERT
61 (1922)] == 31 LPT.O.

61_(1922)] = 30 [PT.O.






